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1.

a. T i O 2

b. 1% 5%

c. IV 0.630 dl/g

d. Mp 245

e. A  > 90%

2. POY

a. POY 2.0 g/d

b. POY 130% ~ 170%

c. YS 2500 m/min

3. DTY

a. DTY 3.0 g/d

b. DTY < 9%

c. YS  400 m/min

4.

a. DTY 150d/48f

b. AATCC 135  < 109

1.

a. <1

b. IV = 0.639 ~ 0.666

c. Mp = 246.2  ~ 256.5

d. A  > 90%

2. POY

a. POY 2.28 ~ 2.44g/d

b. POY 141.00 ~ 151.35%

c. YS = 2870 ~ 2900 m/min

3. DTY

a. DTY 3.65 ~ 4.25g/d

b. DTY 4.22 ~ 6.03%

c. YS =450 ~ 500 m/min

4.

a. DTY 150d/48f

b. 3.1E+02

/cm2 5.7E+04 /cm2

1E+06~1E+10 /cm2

PET
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a.

b.

c.

a.

b. PET

c. E+09

/cm2

E+15~E+16 /cm

PET


